LABJNDu6 triangle lightnesst*

t* Ync=Yw nc=100,

L aBINDus =[INI(A 1n+A2)I(A 2nA 0] (Yao/100<Y<=Y,0)
t(3,6)=146 1 ,(18)=332,t*y(90)=517 &
o’

t*,=332,22 m,=264,6F
L* =49, t* =332

t*go=517,21, Ay="..500. #31,00!
t*15=332,72, A.,20,01~ #,=0,0p58 . -
t*3 146,117,733, 2 Y18 application
’ range
e IYU:18

Yn=3.6  Yy=90

Iog(AY) LABJINDu6
AY tristimulus value difference
Yoc=Yw - nc=100,

t*LaBaNDus =[IN[(A 1n+A2nV)/(A 2rA0n)] (Ync/100Y<=Y,c)
dY=Agn(A1ntAznY)  Ay=0,017, A,=0,0058
Aonpes=L5, Aon a=1,0, see CIE 230:2019
dYg=0,80, Ay=1,500, ¢=1,00
dY;5=0,18, A =0,017, A,-0,0058
dY3,=0,05 Y,=18 dY=\,18 o
t+,=332 dY,=0,18 dY/:u—O 4101 g

0.I

application
range

1v,=18
V=90

Yn=3.6

log (AY/Y) LABJINDuU6
_ tristimulus value sensitivity
SHEYY Yoc=Yw - nc=100,

L aBINDUs =[IN[(A 1n+A2)I/(A 2nA0n)] (Yao/100<Y<=Y,0)
AYIY=Ag A1 +AZYYY
(dY/Yh=0 0uS2

(dY/Y)g=0,0201,
(dY/Y},=0,0154

log(dY/Y)=-1,99 n\,-—o By, " faq?lication
ge

t+,=332, 0Y,20,18 dY,/¥,=0,01011
1
1

1y,=18
Yw=90

Yn=3.6

LABJINDu6
tristimulus value contrast
Yoc=Yw =

e=100,
L aBINDUs =[INI(A 1+ A2/ (A 2nA0n)] (Y 100<Y<=Y,0)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dYp=111,31, A=1,500, g=1,
(Y/dY)=98,84, A=0,017, A=0
(YIdY} =63 35 Y,118, d\=0.18

log (Y/AY)
C,=(Y/AY)

00
,0058

1 application
1 range

1Y,=18
1 Y=90

—

LABJINDuG6 relative triangle lightnesst*/t*,,
t/t* u Ync‘YW nc_loox

t* LaBINDus =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
t(3,6)=146 * ,(18)=332 "y (90)=517

Uatu=1.85. Ax=1.500, ¢=1,00

029 =100 A=0.017, Ao 00058

3 gt*=0,43 t,=332,23 o1

t/t* =1, m,=0,79

application
range

1v,=18
e

Yn=3.6

LABJNDU6 relative
tristimulus value difference

Yne=Yw nc=100,
t*LaBINDus =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
AYIY,=AgfA 1 +AgYIdY,

dYog/dY,=4.43, A=1.500, ¢=1.0

Y, g/dY, =0,017, ! 058
deQdY 031\‘?1 =18 dY= 82,

log(AY/AY,)
AYIAY,

>
>
t*,=332, dY,=0. 18 dy, /! 1u—0 ./101 >

log [(AY/Y) I (AYIY)] LABJINDUG relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,
t*Laganpus =[IN[A 1n+A2nV)I/(A 20A0n)] (Yno/100<Y<=Y, )
AYIYYAYY,=(Ag i Ag Y)Y (EYIYY]

(AY/Y)o/(dYY}-C.28 Av=1,500, ¢=1,00
(YY) S/(dY/Y 51,00, A r=0,017, Ayy=0,0058
(dwvid(dv/v =1,23 V218 dy=0.18

logl@Y/VY@YIYLJ=0, m=-0.13 1

t*,=332, dY,=0,18 dY,/¥,=0,0101 |

1y,=18
=Clp log

application
range

Y236
log [(Y/AY) I (YIAY),] LABJINDUG6 relative
- tistimulus value contrast
Gl =(YIAV)(YIAY), o 2 S Y2 L 50,
t*Laganbus =[IN[A 1n+A2nVI(A 20A0n)] (Yo 100<Y<=Y, )
(YIAYYCYIAY ), =YY IAY )A on(ArntAs I (YIY),
(Y/AY)g/(Y/dY)=1,12, Ay=1,500, ¢=1,00
(YIdY)g/(Y/dY)=1,00. A =0,017. A,=0,0058
(Y/dY} ¢/(Y/dY)=0,64 Y,=18 dY=0,18

application
range

1y,=18
Yw=90




